-1. A 60. N force is exerted on a 5.0 Kg object for 30. seconds.  If the object was initially at rest, what is its acceleration, and what is its final velocity?

0. A 2000 Kg car accelerates from rest to a speed of 27 m/s in 6.0 seconds.  What is the force acting on the car?

1. A 5.0 Kg mass slides to rest from a speed of 3.0 m/s over a distance of 6.2 meters.  What must be the force acting on it?

2. A -5000. N force acts on a 20. Kg object for 3.5 seconds.  If the object's initial velocity is 120 m/s, what is its final velocity?

3. A .10 Kg baseball is pitched at 45 m/s is in contact with the bat for .012 seconds, and comes flying out to the outfield at a speed of 60. m/s.  What force did the bat exert on the ball?
